



Greatest Common Divisors of Shifted Balancing Numbers

Prasanta Kumar Ray and Sushree Sangeeta Pradhan

ABSTRACT: It is well known that the successive balancing numbers are relatively prime. Let for all integers a , $s_n(a)$ denote the greatest common divisor of the shifted balancing numbers of the form $s_n(a) = \gcd(B_n - a, B_{n+1} - 6a)$. In this study, we show that $\{s_n(\pm 1)\}$ is unbounded, whereas $\{s_n(a)\}$ is bounded for $a \neq \pm 1$.

Key Words: Balancing numbers, Lucas-balancing numbers, Balancing-like sequences, Shifted balancing numbers

Contents

1 Introduction	273
2 Preliminary results	274
3 Greatest common divisors of the successive members of the	
sequence $\{s_n(a)\}$ for different values of a	275
3.1 The sequence $\{s_n(1)\}$	275
3.2 The sequence $\{s_n(2)\}$	276
3.3 The sequence $\{s_n(-1)\}$	277
3.4 The sequence $\{s_n(-2)\}$	278

1. Introduction

As usual, the n^{th} balancing number is denoted by B_n and the balancing numbers satisfy the binary recurrence $B_{n+1} = 6B_n - B_{n-1}$ with $B_0 = 0$ and $B_1 = 1$ [1]. The sequence of numbers closely associated with the balancing numbers is the Lucas-balancing numbers $\{C_n\}$ whose recurrence relation is given by $C_{n+1} = 6C_n - C_{n-1}$ with $C_0 = 1$ and $C_1 = 3$ [15,16]. Balancing and Lucas-balancing numbers can be extended negatively, in particular $B_{-n} = -B_n$ and $C_{-n} = C_n$ [22]. Panda, in [17], explored many fascinating properties of balancing numbers, some of them are similar to the corresponding results on Fibonacci numbers, while some others are more interesting. Many exciting properties of balancing numbers and their related sequences are available in the literature. Interested readers can go through [2,3,4,6,7,8,9,10,11,12,13,14,15,16,17,18,19,20,21,22,23,24,25,26,27].

In [19] Panda et.al. studied a class of binary recurrences defined by $x_{n+1} = Ax_n - Bx_{n-1}$ with $x_0 = 0$ and $x_1 = 1$ where A and B are any natural numbers. They have shown that for $B = 1$ and A not in $\{1, 2\}$, the sequences obtained

from these recurrences have many important and interesting properties identical to those of balancing numbers. They named these class of sequences as balancing-like sequences. We begin with defining the sequence of generalized balancing-like sequences G_n^B with initials $G_1^B = \alpha$ and $G_2^B = \beta$ where α and β are natural numbers, as

$$G_n^B = AG_{n-1}^B - BG_{n-2}^B \text{ for } n \geq 3,$$

where A and B are natural numbers. In particular, for $A = 6$ and $B = 1$, we obtain

$$G_n^B = 6G_{n-1}^B - G_{n-2}^B \text{ for } n \geq 3,$$

and for $G_1^B = \alpha$ and $G_2^B = \beta$ we have

$$G_n^B = \beta B_{n-1} - \alpha B_{n-2},$$

which are nothing but the balancing-like sequences introduced by Panda et.al. in [19]. It is observed that, for $\alpha = 1$ and $\beta = 6$, the sequence of balancing-like numbers is nothing but the sequence of balancing numbers $\{B_n\}$. In a similar way, we introduce Lucas-balancing-like numbers,

$$G_n^C = 2\beta G_{n-1}^C - \alpha G_{n-2}^C,$$

and observe that for $\alpha = 1$ and $\beta = 3$, the sequence of Lucas-balancing numbers $\{C_n\}$ is obtained.

In [5], Chen studied about greatest common divisors of shifted Fibonacci numbers. Motivated by this, we consider a slightly different sequence of numbers which we call it as shifted balancing numbers $(B_n + a)$ by a for all integers a and let $s_n(a) = \gcd(B_n - a, B_{n+1} - 6a)$. In this study, the successive members of this sequence for different values of a are considered. Further, we will show that $\{s_n(\pm 1)\}$ is unbounded whereas $\{s_n(a)\}$ is bounded for $a \neq \pm 1$.

2. Preliminary results

In this section, some preliminary results concerning the greatest common divisors of balancing-like sequences are established.

Lemma 2.1. *For integers n, k and a , $\gcd(G_n^B + aB_k, G_{n-1}^B + aB_{k+1}) = \gcd(G_{n-2}^B + aB_{k+2}, G_{n-3}^B + aB_{k+3})$.*

Proof: For any integers a, b , and c , as $\gcd(a, b) = \gcd(a + bc, b)$ and $\gcd(a, b) = \gcd(-a, b) = \gcd(a, -b) = \gcd(-a, -b)$, we have

$$\begin{aligned} \gcd(G_n^B + aB_k, G_{n-1}^B + aB_{k+1}) &= \gcd(-G_n^B - aB_k, G_{n-1}^B + aB_{k+1}) \\ &= \gcd(G_{n-2}^B + aB_{k+2}, G_{n-1}^B + aB_{k+1}) \\ &= \gcd(G_{n-2}^B + aB_{k+2}, -G_{n-3}^B - aB_{k+3}) \\ &= \gcd(G_{n-2}^B + aB_{k+2}, G_{n-3}^B + aB_{k+3}). \end{aligned}$$

which completes the proof. \square

Lemma 2.2. For integers m, k and a ,

$$\gcd(G_m^B - a, G_{m+1}^B - 6a) = \gcd(G_{m-2k}^B + aB_{2k-1}, G_{m-(2k+1)}^B + aB_{2k}). \quad (2.1)$$

Proof: Simplification of the left side expression gives

$$\begin{aligned} \gcd(G_m^B - a, G_{m+1}^B - 6a) &= \gcd(G_m^B - a, -G_{m-1}^B) \\ &= \gcd(G_m^B - a, G_{m-1}^B) \\ &= \gcd(G_m^B + aB_{-1}, G_{m-1}^B + aB_0). \end{aligned}$$

Because $B_{-1} = -1$ and $B_0 = 0$ and applying Lemma 2.1 k times, the result follows. \square

Lemma 2.3. Let m, k and a are integers, then

$$\gcd(G_m^B + a, G_{m+1}^B + 3a) = \gcd(G_{m-2k}^B + aC_{2k}, G_{m-(2k+1)}^B + aC_{2k+1}). \quad (2.2)$$

Proof: For integers m, k and a ,

$$\begin{aligned} \gcd(G_m^B + a, G_{m+1}^B + 3a) &= \gcd(G_m^B + a, -G_{m-1}^B - 3a) \\ &= \gcd(G_m^B + a, G_{m-1}^B + 3a) \\ &= \gcd(G_m^B + aC_0, G_{m-1}^B + aC_1) \end{aligned}$$

as $C_0 = 1$ and $C_1 = 3$ and applying Lemma 2.1 k times, the result follows. \square

3. Greatest common divisors of the successive members of the sequence $\{s_n(a)\}$ for different values of a

In this section, we consider the sequence $\{s_n(a)\} = \gcd(B_n - a, B_{n+1} - 6a)$ for different values of a and obtain some important identities.

3.1. The sequence $\{s_n(1)\}$

Theorem 3.1. For any integer n , we have

$$\gcd(B_{4n-1} - 1, B_{4n} - 6) = 2B_{2n-1} \quad (3.1)$$

$$\gcd(B_{4n} - 1, B_{4n+1} - 6) = B_{2n} + B_{2n-1} \quad (3.2)$$

$$\gcd(B_{4n+1} - 1, B_{4n+2} - 6) = 2B_{2n} \quad (3.3)$$

$$\gcd(B_{4n+2} - 1, B_{4n+3} - 6) = B_{2n+1} + B_{2n}. \quad (3.4)$$

Proof: For $m = 4n - 1, k = n$, and $a = 1$ in (2.1), we obtain

$$\begin{aligned} \gcd(B_{4n-1} - 1, B_{4n} - 6) &= \gcd(B_{2n-1} + B_{2n-1}, B_{2n-2} + B_{2n}) \\ &= \gcd(2B_{2n-1}, 6B_{2n-1}) \\ &= 2B_{2n-1}. \end{aligned}$$

This completes the proof of (3.1). Putting $m = 4n$, $k = n$, and $a = 1$ in (2.1), we have

$$\begin{aligned}\gcd(B_{4n} - 1, B_{4n+1} - 6) &= \gcd(B_{2n} + B_{2n-1}, B_{2n-1} + B_{2n}) \\ &= B_{2n} + B_{2n-1},\end{aligned}$$

which gives (3.2). Again for $m = 4n + 1$, $k = n$, and $a = 1$ in (2.1), we have

$$\begin{aligned}\gcd(B_{4n+1} - 1, B_{4n+2} - 6) &= \gcd(B_{2n+1} + B_{2n-1}, B_{2n} + B_{2n}) \\ &= \gcd(6B_{2n}, 2B_{2n}) \\ &= 2B_{2n},\end{aligned}$$

gives (3.3). Finally, setting $m = 4n + 2$, $k = n$, and $a = 1$ in (2.1), we have

$$\begin{aligned}\gcd(B_{4n+2} - 1, B_{4n+3} - 6) &= \gcd(B_{2n+2} + B_{2n-1}, B_{2n+1} + B_{2n}) \\ &= \gcd(6B_{2n+1} + 6B_{2n}, B_{2n+1} + B_{2n}) \\ &= B_{2n+1} + B_{2n},\end{aligned}$$

which gives (3.4). □

3.2. The sequence $\{s_n(2)\}$

Theorem 3.2. *For any integer n , we have*

$$\gcd(B_{4n-1} - 2, B_{4n} - 12) = 3 \tag{3.5}$$

$$\gcd(B_{4n} - 2, B_{4n+1} - 12) = 1 \tag{3.6}$$

$$\gcd(B_{4n+1} - 2, B_{4n+2} - 12) = 1 \tag{3.7}$$

$$\gcd(B_{4n+2} - 2, B_{4n+3} - 12) = 1. \tag{3.8}$$

Proof: For $m = 4n - 1$, $k = n$, and $a = 2$ in (2.1), we obtain

$$\begin{aligned}\gcd(B_{4n-1} - 2, B_{4n} - 12) &= \gcd(B_{2n-1} + 2B_{2n-1}, B_{2n-2} + 2B_{2n}) \\ &= \gcd(3B_{2n-1}, 6B_{2n-1} + B_{2n}) \\ &= \gcd(3B_{2n-1}, B_{2n}).\end{aligned}$$

Since $\gcd(a, bc) = \gcd(a, \gcd(a, b)c)$, we have

$$\begin{aligned}\gcd(B_{4n-1} - 2, B_{4n} - 12) &= \gcd(3 \gcd(B_{2n-1}, B_{2n}), B_{2n}) \\ &= \gcd(3, B_{2n}) \\ &= 3,\end{aligned}$$

which is (3.5). Let $m = 4n, k = n$, and $a = 2$ in (2.1), then we have

$$\begin{aligned}
 \gcd(B_{4n} - 2, B_{4n+1} - 12) &= \gcd(B_{2n} + 2B_{2n-1}, B_{2n-1} + 2B_{2n}) \\
 &= \gcd(-3B_{2n}, B_{2n-1} + 2B_{2n}) \\
 &= \gcd(3B_{2n}, B_{2n-1} + 2B_{2n}) \\
 &= \gcd(B_{2n-1}, B_{2n-1} + 2B_{2n}) \\
 &= \gcd(B_{2n-1}, 2B_{2n}) \\
 &= \gcd(B_{2n-1}, 2 \gcd(B_{2n-1}, B_{2n})) \\
 &= \gcd(B_{2n-1}, 2) \\
 &= 1,
 \end{aligned}$$

gives (3.6). Again putting $m = 4n + 1, k = n$, and $a = 2$ in (2.1), we get

$$\begin{aligned}
 \gcd(B_{4n+1} - 2, B_{4n+2} - 12) &= \gcd(B_{2n+1} + 2B_{2n-1}, B_{2n} + 2B_{2n}) \\
 &= \gcd(6B_{2n} + B_{2n-1}, 3B_{2n}) \\
 &= \gcd(B_{2n-1}, 3B_{2n}) \\
 &= \gcd(B_{2n-1}, 3 \gcd(B_{2n-1}, B_{2n})) \\
 &= \gcd(B_{2n-1}, 3) \\
 &= 1,
 \end{aligned}$$

gives (3.7). Finally setting $m = 4n + 2, k = n$, and $a = 2$ in (2.1), we obtain

$$\begin{aligned}
 \gcd(B_{4n+2} - 2, B_{4n+3} - 12) &= \gcd(B_{2n+2} + 2B_{2n-1}, B_{2n+1} + 2B_{2n}) \\
 &= \gcd(B_{2n+2} + 2B_{2n} + 2B_{2n-1} + B_{2n+1}, B_{2n+1} + 2B_{2n}) \\
 &= \gcd(6B_{2n+1} + 6B_{2n} + B_{2n} + B_{2n-1}, B_{2n+1} + 2B_{2n}) \\
 &= \gcd(-6B_{2n} + B_{2n} + B_{2n-1}, B_{2n+1} + 2B_{2n}) \\
 &= \gcd(-5B_{2n} + B_{2n-1}, B_{2n+1} + 2B_{2n}) \\
 &= \gcd(3B_{2n}, B_{2n+1} + 2B_{2n}) \\
 &= \gcd(3 \gcd(B_{2n}, B_{2n+1} + 2B_{2n}), B_{2n+1} + 2B_{2n}) \\
 &= \gcd(3 \gcd(B_{2n}, B_{2n+1}), B_{2n+1} + 2B_{2n}) \\
 &= \gcd(3, B_{2n+1} + 2B_{2n}) \\
 &= 1,
 \end{aligned}$$

gives (3.8). □

3.3. The sequence $\{s_n(-1)\}$

Theorem 3.3. *For any integer n , we have*

$$\gcd(B_{4n-1} + 1, B_{4n} + 6) = B_{2n} - B_{2n-2} \quad (3.9)$$

$$\gcd(B_{4n} + 1, B_{4n+1} + 6) = B_{2n} - B_{2n-1} \quad (3.10)$$

$$\gcd(B_{4n+1} + 1, B_{4n+2} + 6) = B_{2n+1} - B_{2n-1} \quad (3.11)$$

$$\gcd(B_{4n+2} + 1, B_{4n+3} + 6) = B_{2n+1} - B_{2n}. \quad (3.12)$$

Proof: For $m = 4n - 1, k = n$, and $a = -1$ in (2.1), we obtain

$$\begin{aligned}\gcd(B_{4n-1} + 1, B_{4n} + 6) &= \gcd(B_{2n-1} - B_{2n-1}, B_{2n-2} - B_{2n}) \\ &= B_{2n} - B_{2n-2},\end{aligned}$$

gives (3.9). Let $m = 4n, k = n$, and $a = -1$ in (2.1), we get

$$\gcd(B_{4n} + 1, B_{4n+1} + 6) = \gcd(B_{2n} - B_{2n-1}, B_{2n-1} - B_{2n}) = B_{2n} - B_{2n-1},$$

which is (3.10). Putting $m = 4n + 1, k = n$, and $a = -1$ in (2.1), we get

$$\begin{aligned}\gcd(B_{4n+1} + 1, B_{4n+2} + 6) &= \gcd(B_{2n+1} - B_{2n-1}, B_{2n} - B_{2n}) \\ &= B_{2n+1} - B_{2n-1},\end{aligned}$$

giving (3.11). Further, setting $m = 4n + 2, k = n$, and $a = -1$ in (2.1), we obtain

$$\begin{aligned}\gcd(B_{4n+2} + 1, B_{4n+3} + 6) &= \gcd(B_{2n+2} - B_{2n-1}, B_{2n+1} - B_{2n}) \\ &= \gcd(6B_{2n+1} - 6B_{2n}, B_{2n+1} - B_{2n}) \\ &= B_{2n+1} - B_{2n}\end{aligned}$$

which is (3.12). □

3.4. The sequence $\{s_n(-2)\}$

Theorem 3.4. *For any integer n , we have*

$$\gcd(B_{4n-1} + 2, B_{4n} + 12) = 1 \tag{3.13}$$

$$\gcd(B_{4n} + 2, B_{4n+1} + 12) = 1 \tag{3.14}$$

$$\gcd(B_{4n+1} + 2, B_{4n+2} + 12) = 3 \tag{3.15}$$

$$\gcd(B_{4n+2} + 2, B_{4n+3} + 12) = 1. \tag{3.16}$$

Proof: Setting $m = 4n - 1, k = n$, and $a = -2$ in (2.1),

$$\begin{aligned}\gcd(B_{4n-1} + 2, B_{4n} + 12) &= \gcd(B_{2n-1} - 2B_{2n-1}, B_{2n-2} - 2B_{2n}) \\ &= \gcd(-B_{2n-1}, B_{2n-2} - B_{2n}) \\ &= \gcd(B_{2n-1}, B_{2n-2} - 2B_{2n} - 6B_{2n-1}) \\ &= \gcd(B_{2n-1}, 3B_{2n}) \\ &= \gcd(B_{2n-1}, 3\gcd(B_{2n-1}, B_{2n})) \\ &= \gcd(B_{2n-1}, 3) \\ &= 1,\end{aligned}$$

giving (3.13). Let $m = 4n, k = n$, and $a = -2$ in (2.1). Then

$$\begin{aligned}
 \gcd(B_{4n} + 2, B_{4n+1} + 12) &= \gcd(B_{2n} - 2B_{2n-1}, B_{2n-1} - 2B_{2n}) \\
 &= \gcd(-3B_{2n}, B_{2n-1} - 2B_{2n}) \\
 &= \gcd(3 \gcd(B_{2n}, B_{2n-1} - 2B_{2n}), B_{2n-1} - 2B_{2n}) \\
 &= \gcd(3 \gcd(B_{2n}, B_{2n-1}), B_{2n-1} - 2B_{2n}) \\
 &= \gcd(3, B_{2n-1} - 2B_{2n}) \\
 &= 1,
 \end{aligned}$$

gives (3.14). For $m = 4n + 1, k = n$, and $a = -2$ in (2.1), we have

$$\begin{aligned}
 \gcd(B_{4n+1} + 2, B_{4n+2} + 12) &= \gcd(B_{2n+1} - 2B_{2n-1}, B_{2n} - 2B_{2n}) \\
 &= \gcd(B_{2n+1} - 2B_{2n-1}, B_{2n}) \\
 &= \gcd(6B_{2n} - 3B_{2n-1}, B_{2n}) \\
 &= \gcd(-3B_{2n-1}, B_{2n}) \\
 &= \gcd(3 \gcd(B_{2n-1}, B_{2n}), B_{2n}) \\
 &= \gcd(3, B_{2n}) \\
 &= 3,
 \end{aligned}$$

which is (3.15). Again setting $m = 4n + 2, k = n$, and $a = -2$ in (2.1)

$$\begin{aligned}
 \gcd(B_{4n+2} + 2, B_{4n+3} + 12) &= \gcd(B_{2n+2} - 2B_{2n-1}, B_{2n+1} - 2B_{2n}) \\
 &= \gcd(B_{2n+2} + 2B_{2n} - 2B_{2n-1} - B_{2n+1}, B_{2n+1} - 2B_{2n}) \\
 &= \gcd(6B_{2n+1} + B_{2n} - B_{2n-1} - 6B_{2n}, B_{2n+1} - 2B_{2n}) \\
 &= \gcd(6B_{2n+1} - B_{2n-1} - 5B_{2n}, B_{2n+1} - 2B_{2n}) \\
 &= \gcd(7B_{2n+1} - 5B_{2n} - B_{2n+1} - B_{2n-1}, B_{2n+1} - 2B_{2n}) \\
 &= \gcd(7B_{2n+1} - 11B_{2n}, B_{2n+1} - 2B_{2n}) \\
 &= \gcd(B_{2n+1} + B_{2n}, B_{2n+1} - 2B_{2n}) \\
 &= \gcd(B_{2n+1} + B_{2n}, 3B_{2n+1}) \\
 &= \gcd(B_{2n+1} + B_{2n}, 3 \gcd(B_{2n+1} + B_{2n}, B_{2n+1})) \\
 &= \gcd(B_{2n+1} + B_{2n}, 3) \\
 &= 1,
 \end{aligned}$$

gives (3.16). □

Theorem 3.5. *For any integer n , we have*

$$\gcd(C_{4n-1} + 1, C_{4n} + 3) = C_{2n} + C_{2n-1} \quad (3.17)$$

$$\gcd(C_{4n} + 1, C_{4n+1} + 3) = 2C_{2n} \quad (3.18)$$

$$\gcd(C_{4n+1} + 1, C_{4n+2} + 3) = C_{2n+1} + C_{2n} \quad (3.19)$$

$$\gcd(C_{4n+2} + 1, C_{4n+3} + 3) = 2C_{2n+1}. \quad (3.20)$$

Proof: Putting $m = 4n - 1, k = n$, and $a = 1$ in (2.2), we get

$$\begin{aligned} \gcd(C_{4n-1} + 1, C_{4n} + 3) &= \gcd(C_{2n-1} + C_{2n}, C_{2n-2} + C_{2n+1}) \\ &= \gcd(C_{2n-1} + C_{2n}, 6C_{2n-1} + 6C_{2n}) \\ &= C_{2n-1} + C_{2n}, \end{aligned}$$

which is (3.17). Let $m = 4n, k = n$, and $a = 1$ in (2.2) to obtain

$$\begin{aligned} \gcd(C_{4n} + 1, C_{4n+1} + 3) &= \gcd(C_{2n} + C_{2n}, C_{2n-1} + C_{2n+1}) \\ &= \gcd(2C_{2n}, 6C_{2n}) \\ &= 2C_{2n}, \end{aligned}$$

which follows (3.18). For $m = 4n + 1, k = n$, and $a = 1$ in (2.2), we get

$$\begin{aligned} \gcd(C_{4n+1} + 1, C_{4n+2} + 3) &= \gcd(C_{2n+1} + C_{2n}, C_{2n} + C_{2n+1}) \\ &= C_{2n} + C_{2n+1}, \end{aligned}$$

which gives (3.19). Setting $m = 4n + 2, k = n$, and $a = 1$ in (2.2), we obtain

$$\begin{aligned} \gcd(C_{4n+2} + 1, C_{4n+3} + 3) &= \gcd(C_{2n+2} + C_{2n}, C_{2n+1} + C_{2n+1}) \\ &= \gcd(6C_{2n+1}, 2C_{2n+1}) \\ &= 2C_{2n+1}, \end{aligned}$$

gives (3.20). □

From the above results so far we have obtained, it is evident that $\{s_n(a)\}$ is unbounded for $a = \pm 1$. The next is to show $\{s_n(a)\}$ is bounded for $a \neq \pm 1$. For this, we prove the following two results.

Theorem 3.6. *For any integers α, β, n and a with $\alpha^2 + \beta^2 - 6\alpha\beta - a^2 \neq 0$, we have*

$$\gcd(G_{4n-1}^B - a, G_{4n}^B - 6a) \leq |\alpha^2 + \beta^2 - 6\alpha\beta - a^2|.$$

Proof: For $m = 4n - 1$ and $k = n$ in (2.1), we obtain

$$\begin{aligned} &\gcd(G_{4n-1}^B - a, G_{4n}^B - 6a) \\ &= \gcd(G_{2n-1}^B + aB_{2n-1}, G_{2n-2}^B + aB_{2n}) \\ &= \gcd(\beta B_{2n-2} - \alpha B_{2n-3} + aB_{2n-1}, \beta B_{2n-3} - \alpha B_{2n-4} + aB_{2n}). \end{aligned}$$

Using the recursion relation for B_n , let

$$f_n = \beta B_{2n-2} - \alpha B_{2n-3} + aB_{2n-1} = (\beta + 6a)B_{2n-2} - (\alpha + a)B_{2n-3}$$

and

$$g_n = \beta B_{2n-3} - \alpha B_{2n-4} + aB_{2n} = (\alpha + 35a)B_{2n-2} + (\beta - 6\alpha - 6a)B_{2n-3}.$$

Since $\gcd(f_n, g_n)$ divides $yf_n + zg_n$ for any integers y and z , and

$$(\alpha + a)g_n - (6\alpha + 6a - \beta)f_n = (\alpha^2 + \beta^2 - 6\alpha\beta - a^2)B_{2n-2}$$

and

$$(\beta + 6a)g_n - (\alpha + 35a)f_n = (\alpha^2 + \beta^2 - 6\alpha\beta - a^2)B_{2n-3},$$

we see that if $\alpha^2 + \beta^2 - 6\alpha\beta - a^2 \neq 0$, then the greatest common divisor of the two numbers is $|\alpha^2 + \beta^2 - 6\alpha\beta - a^2|$. Therefore $\gcd(f_n, g_n)$ divides $\alpha^2 + \beta^2 - 6\alpha\beta - a^2$. That is to say,

$$\gcd(G_{4n-1}^B - a, G_{4n}^B - 6a) \leq |\alpha^2 + \beta^2 - 6\alpha\beta - a^2|.$$

If $m = 4n + 1$ and $k = n$ in (2.1), we have, similarly

$$\gcd(G_{4n+1}^B - a, G_{4n+2}^B - 6a) \leq |\alpha^2 + \beta^2 - 6\alpha\beta - a^2|.$$

This ends the proof. \square

Theorem 3.7. *For any integers α, β, n and a with $\alpha^2 + \beta^2 - 6\alpha\beta - a^2 \neq 0$, we have*

$$\gcd(G_{4n}^B - a, G_{4n+1}^B - 6a) \leq |\alpha^2 + \beta^2 - 6\alpha\beta - a^2|.$$

Proof: Again setting $m = 4n$ and $k = n$ in (2.1), we get

$$\begin{aligned} \gcd(G_{4n}^B - a, G_{4n+1}^B - 6a) &= \gcd(G_{2n}^B + aB_{2n-1}, G_{2n-1}^B + aB_{2n}) \\ &= \gcd(\beta B_{2n-1} - \alpha B_{2n-2} + aB_{2n-1}, \beta B_{2n-2} - \alpha B_{2n-3} + aB_{2n}). \end{aligned}$$

Using the recursion relation for B_n , let

$$f_n = \beta B_{2n-1} - \alpha B_{2n-2} + aB_{2n-1} = (\beta + a)B_{2n-1} - \alpha B_{2n-2}$$

and

$$g_n = \beta B_{2n-2} - \alpha B_{2n-3} + aB_{2n} = (\alpha + 6a)B_{2n-1} + (\beta - 6\alpha - a)B_{2n-2}.$$

Since $\gcd(f_n, g_n)$ divides $yf_n + zg_n$ for any integers y and z , and

$$\alpha g_n + (\beta - 6\alpha - a)f_n = (\alpha^2 + \beta^2 - 6\alpha\beta - a^2)B_{2n-1}$$

and

$$(\beta + a)g_n - (\alpha + 6a)f_n = (\alpha^2 + \beta^2 - 6\alpha\beta - a^2)B_{2n-2},$$

we see that if $\alpha^2 + \beta^2 - 6\alpha\beta - a^2 \neq 0$, then the greatest common divisor of the two numbers is $|\alpha^2 + \beta^2 - 6\alpha\beta - a^2|$. Therefore $\gcd(f_n, g_n)$ divides $\alpha^2 + \beta^2 - 6\alpha\beta - a^2$. That is to say,

$$\gcd(G_{4n}^B - a, G_{4n+1}^B - 6a) \leq |\alpha^2 + \beta^2 - 6\alpha\beta - a^2|.$$

If $m = 4n + 2$ and $k = n$ in (3), we have, similarly

$$\gcd(G_{4n+2}^B - a, G_{4n+3}^B - 6a) \leq |\alpha^2 + \beta^2 - 6\alpha\beta - a^2|,$$

which completes the proof. \square

Acknowledgments

Authors are grateful to the anonymous reviewers for constructive input to improve this article.

References

1. A. Behera and G. K. Panda, On the square roots of triangular numbers, *The Fibonacci Quarterly*, 37(2), 1999, 98-105.
2. M. Alp, N. Irmak and L. Szalay, Balancing Diophantine triples, *Acta Universitatis Sapientiae, Mathematica*, 4(1), 2012, 11-19.
3. H. Belbachir and L. Szalay, Balancing in direction $(1, -1)$ in Pascal's Triangle, *Armenian Journal of Mathematics*, 6(1), 2014, 32-40.
4. A. Berczes, K. Liptai, I. Pink, On generalized balancing numbers, *Fibonacci Quarterly*, 48(2), 2010, 121-128.
5. K. W. Chen, Greatest common divisors in shifted Fibonacci sequence, *Journal of Integer sequence*, Article 11.4.
6. M. Alp, N. Irmak and L. Szalay, Balancing Diophantine triples, *Miskolc Mathematical Notes*, 14(3), 2013, 951-957.
7. N. Irmak, Balancing with balancing powers, *Miskolc Mathematical Notes*, 14(3), 2013, 951-957.
8. R. Keskin and O. Karaatly, Some new properties of balancing numbers and square triangular numbers, *Journal of Integer Sequences*, 15(1), 2012.
9. O. Karaatly, R. Keskin, On Some Diophantine Equations Related to Square Trinagular and Balancing Numbers, *Journal of Algebra, Number Theory: Advances and Applications V*, 4(2), 2010, 71-89.
10. K. Liptai, Fibonacci balancing numbers, *The Fibonacci Quarterly*, 42(4), 2004, 330-340.
11. K. Liptai, Lucas balancing numbers, *Acta Mathematica Universitatis Ostraviensis*, 14(1), 2006, 43-47.
12. K. Liptai, Lucas balancing numbers, *Acta Mathematica Universitatis Ostraviensis*, 14(1), 2006, 43-47.
13. K. Liptai, F. Luca, A. Pinter and L. Szalay, Generalized balancing numbers, *Indagationes Math. N. S.*, 20, 2009, 87-100.
14. P. Olajos, Properties of balancing, cobalancing and generalized balancing numbers, *Annales Mathematicae et Informaticae*, 37, 2010, 125-138.
15. G. K. Panda and P. K. Ray, Cobalancing numbers and cobalancers, *International Journal of Mathematics and Mathematical Sciences*, 2005(8), 2005, 1189-1200.
16. G. K. Panda and P. K. Ray, Some links of balancing and cobalancing numbers with Pell and associated Pell numbers, *Bulletin of the Institute of Mathematics, Academia Sinica(New Series)*, 6(1), 2011, 41-72.
17. G. K. Panda, Some fascinating properties of balancing numbers, *Proceeding Eleventh International Conference on Fibonacci Numbers and Their Applications, Cong. Numerantium*, 194, 2009, 185-189.
18. G. K. Panda, Arithmetic progression of squares and solvability of the Diophantine equation $8x^4 + 1 = y^2$, *East-West Journal of Mathematics*, 1(2), 2012, 131-137.
19. G. K. Panda and S. S. Rout, A class of recurrent sequences exhibiting some excitin properties of balancing numbers, *Int. J. Math. Comp. Sci.*, 6, 2012, 4-6

20. P. K. Ray, Application of Chybeshev polynomials in factorization of balancing and Lucas-balancing numbers, *Boletim da Sociedade Paranaense de Matemática* 30 (2), 2012, 49-56.
21. P. K. Ray, Curious congruences for balancing numbers, *International Journal of Contemporary Mathematical Sciences*, 7 (18), 2012, 881-889.
22. P. K. Ray, Factorization of negatively subscripted balancing and Lucas-balancing numbers, *Boletim da Sociedade Paranaense de Matemática*, 31 (2), 2013, 161-173.
23. P. K. Ray, New identities for the common factors of balancing and Lucas-balancing numbers, *International Journal of Pure and Applied Mathematics*, 85, 2013, 487-494.
24. P. K. Ray, Some congruences for balancing and Lucas-balancing numbers and their applications, *Integers*, 14, 2014, #A8.
25. P. K. Ray, Balancing and Lucas-balancing sums by matrix methods, *Mathematical Reports* , 17(2), 2015, 225-233.
26. P. K. Ray and B.K. Patel, Uniform distribution of the sequence of balancing numbers modulo m, *Uniform Distribution Theory* , 11(1), 2016, 15-21.
27. A. Tekcan, M. Tayat and P. Olajos, Balancing, Pell and square tringular functions, *Miskolc Mathematical Notes* , 16(2), 2015, 1219-1231.

Prasanta Kumar Ray

Veer Surendra Sai University of Technology Burla, India

E-mail address: rayprasanta2008@gmail.com

and

Sushree Sangeeta Pradhan

National Institute of Technology Rourkela, India

E-mail address: sushreesp1992@gmail.com